LE QUATTRO OPERAZIONI ENTRO IL 9.999

v ﬁolonna e calcola:
i;

Fai la proval
1.189 + 1.953 + 2.637 = 1.205 + 6.189 = 4.969 + 791 =
6.624 + 1.030 + 1.757 = 5.197 + 3.163 = 1.376 + 2.548 =
4.719 + 309 + 3.852 = 3.673 + 800 = 513 + 9.048 =
1.337 + 751 + 3.516 = 1.044 + 1.835 = 5.524 + 1.726 =
1.578 + 191 + 336 = 7.778 + 1.870 = 608 + 8.376 =
9.745 - 3.043 = 9.208 - 4.475 = (6) 8.867-8.329 =
1,587 -21 = 6.572 - 971 = 7.234 -6.924 =
5.222-2.613 = 9.294 - 2.971 = 7.073-324 =
9.000 - 4.168 = 8.572 - 1.254 = 8.204 - 6.042 =
9.930 - 6.077 = 6.632 - 4.604 = 4.959 - 292 =
162 x 27 = 105 x 49 = ©) 968 x8=
88 x 18 = 72 x 30 = 1.467 x 4 =
472 x 16 = 61x31= 1.692 x 4 =
389 x 21 = 612 x 14 = 419 x5 =
90 x 57 = 483 x 19 = 1.792 x 4 =
7.896:2 = 4296 : 3 = 4.989 : 5 =
4.905: 6 = 5.578 : 8 = 6.791: 4 =
3.837:5= 7.533:6 = 8.304:2 =
1.890:4 = 3.935:4 = 4.488 : 8
8.382:3 = 5.763: 6 = 4.633:4=
7.960:2 = 5115:3 = 1.109:5 =
9.470:8 = 3.183:8 = 4.837:5=
5.806:5 = 9.311:7 = 2.365:6 =
2549:5 = 9.947:7 = 9.970:7 =
5.703:6 = 4.495: 4 = 5.770 : 3 =



LE QUATTRO OPERAZIONI ENTRO IL 9.999

Metti in colonna e calcola:

Fai la proval

931 + 836 + 4.166 = 8.192 + 1.082 = 473 +7.532 =
5.114 + 2.382 + 2.238 = 716 + 7.660 = 6.632 + 2.708 =
1.751 + 1.060 + 4.192 = 4.523 +2.720 = 4741+ 4734 =
3.355 + 384 + 1.928 = 2.126 + 674 = 5.850 + 1.092 =
1.285 + 5.622 + 2.258 = 2.500 + 1.493 = 5.451 + 1.333 =

8.560 - 1.480 = 6.460 - 4.691 = (6) 7.507 - 4.406 =
2.870 - 2.615 = 6.267 - 2.105 = 6.044 - 3.506 =
8.498 - 4.903 = 4.763 - 653 = 6.320 - 3.919 =
9.000 - 5.282 = 8.185 - 986 = 3.403 - 2.487 =
9.866 - 6.759 = 7.974 -213 = 9.503 - 5.027 =

481 x 15 = 148 x 67 = &) 269x21=
145 x 62 = 107 x 16 = 55 x 41 =
496 x 18 = 406 x 23 = 191 x 18 =
180 x 17 = 339 x 24 = 51x33 =
112 x 23 = 557 x 11 = 249 x 19 =

1.597 x 4 = 545 x 2 = 166 x 48 =
2.339x3 = 429 x 2 = 81 x 65 =
1.831x2= 3145 x 2 = 443 x 22 =
329x7 = 1.495x 3 = 185 x 49 =
547 x 7 = 2208 x 2 = 125 x 31 =

2933:5= ) 6800:3=__ 4.383:6 =
9.036:5= 1559:5= 5.501:2 =
5.230 : 4 = 7160:7=__ 4.126:7 =
7.330:7 = 1.186:7= 3.859:5=

84755 = 1.489:5= 5.375:8 =



LE QUATTRO OPERAZIONI ENTRO IL 9.999

Metti in colonna e calcola:

Fai la proval
789 + 1.549 + 6.161 = 2762 + 836 = 1.088 + 2.404 =
1.018 + 2.244 + 5.556 = 3.309 + 2.677 = 1272 + 5.292 =
1.527 + 5.266 + 966 = 3.589 + 5.680 = 4.001 + 456 =
2612 + 778 + 5.629 = 1.698 + 1.540 = 6.857 + 1.335 =
968 + 3.973 + 3.130 = 2.405 + 508 = 2.582 + 5.107 =
4.969 + 791 = 1.167 + 1.269 = (6) 7.802 +639 =
1.376 + 2.548 = 1.530 + 195 = 1.633 + 4.767 =
513 +9.048 = 894 +6.159 = 2.095 + 4.076 =
5.524 + 1.726 = 155 + 5.863 = 234 +6.621 =
608 + 8.376 = 2919 +6.125 = 1.344 +2.933 =
358 x 2 = 557 x 3 = (®) 2252x2=
1.962x 5 = 2.001x3= 2125x3=___
3.566 x 2 = 1.688 x 5 = 2917 x2=
865 x 3 = 647 x 5 = 21Mx8=
3.672x2 = 1.072x 5= 697x6=______
7.640 - 702 = 6.976 - 4.640 = 5.600 - 5.456 = _
6.242 - 4.927 = 6.923 - 3.628 = 4.092 - 1.841 =
4.600 - 2.425 = 4.719 - 2.205 = 6.803-2157=__
8.917 - 7.708 = 4.347 - 3.498 = 9.625-1.006=__
3.020 - 1.067 = 9.445 - 1.634 = 2.384-1.073 =
6.095: 5 = 2.701:8 = 2.624:5 =
5.731:4 = 9.588:2 = 7747 :6 =
1.555:6=____ 6.597 : 7 = 1.664:2 =
9.235:8=__ 7.484 :4 = 1.699: 8 =

3470:5=__ 2.958:3= 9.686 :6 =



LE QUATTRO OPERAZIONI ENTRO IL 9.999

Metti in colonna e calcola:

Fai la proval

5.889 + 2.415 + 1.310 = 5.436 + 3.164 = 1.284 + 5.208 =
589 + 2.207 + 4.011= 4.952 + 4,170 = 5.607 + 1.534 =
419 + 1.305 + 4.706 = 7.960 + 1.630 = 906 + 1.368 =
701 + 996 + 4.645 = 2513 + 3.578 = 6.542 + 1.010 =
1.897 + 450 + 910 = 2023 + 5141 = 5.556 + 2.632 =

6.214 - 346 = 5.034 - 2.464 = (8] 8.800-7.773=
8.000 - 4.260 = 5.406 - 4.456 = 1.714 - 855 =
9.459 - 2.454 = 4.564 - 2.561 = 6.203 - 4.712 =
7.067 - 4.313 = 5.041 - 1.565 = 1.575 - 695 =
5.200 - 1.468 = 7.170 - 6.696 = 0.788 - 2.187 =

1.361 x5 = 175x17= (8 e652x12=
1.145x 2 = 145x15= 100 x 40 =
1.351x3 = 3e6x15=______ 396 x 15 =
1.249 x 3 = 586x11=_____ 432 x 20 =
4276 x2 = 620x16=___ 446 x 20 =

9.129:7= 7947:8=__ 3192:7=
4.684 - 8 = 6.450:2=__ 6.347 : 3 =
2.495:6 = 4940:7=___ 8.316: 8 =
3.143:5= 7675:6=______ 7.141:6 =
7.169 1 4 = 1.938:5= 9.733:3 =

4.021:6 = 7643:4 = 3.490: 4 =
3.330:3 = 6.204 1 4 = 9.240: 6 =
1.883:2 = 6.787 :5 = 1.316: 6 =
6.765: 2 = 9.980: 4 = 7.825:7 =

6.925:8 = 2490:7= 1.923:8 =



LE QUATTRO OPERAZIONI ENTRO IL 9.999

<[ Metti in colonna e calcola:

Fai la proval
571 + 2.172 + 4.380 = 1.205 + 6.189 = 662 + 5.587 =
134 + 2.436 + 2.362 = 5197 + 3.163 = 672 + 9.057 =
3.586 + 1.176 + 4.476 = 3.673 + 800 = 293 + 4.280 =
743 + 311 + 5.877 = 1.044 + 1.835 = 1.451 + 3.989 =
1.516 + 6.742 + 1.579 = 7.778 +1.870 = 6.751 + 536 =
9.921-8.519 = 9.316-4536=____ (6) 8561-169=
3.449 - 2.377 = 9.607-9.080=____ 9.485 - 8.490 =
7.000 - 2.022 = 5977-1219=_ 2.486 - 1.845 =
7.937 - 7.499 = 8.748 - 5.879 = 6.608 - 3.170 =
9.870 - 3.957 = 3.106 - 2.811 = 2.805 - 315 =
@) 1526 x3= (8) 98 x 49 = @) 377x15=
1.162x 3 = 119 x 46 = 353 x 12 =
184 x 3 = 220 x 31 = 72X 75 =
1.374%7 = 305 x 29 = 318 x 31 =
3120 x 3 = 99 x 25 = 370 x 19 =
8.965:7 = 8.577 :7 = 2.982:6=
7.739:8= 8.440 : 2 = 1.365:2 =
9.250: 8 = 2.810:4 = 6.890 : 3 =
9.781:5= 5.805 : 6 = 1.559 : 5 =
1.893:3 = 9.243:7 = 7.160:7 =
1921:5 = 3333:2= 7.753:6 =
1125: 2 = 3.459: 5 = 3.783:4 =
7869 : 5 = 4.975:3 = 4.763: 8 =
9387 : 5 = 5235:7 = 8.588:2 =
6095 : 2 = 6.878: 8 = 4.431:7=
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